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PEFEESIEHE 33 EOE 2,000
HMEREANZ 300 |EWmEEREHE 2,500
TOME 500 EWMA=E 2,800
ROZS 500 FOIK 3,000
EMRBAZ 500| |2EEERE=-KH=Z 3,000
DEABREEE NEHE 700| |2EEREELEREHE 3,000
F 800 =0 3,000
PREEHZ 900 | |EEENEE 3,000
ARHZ 1,000| |EEEEZEHE 3,000
NOR 1,000 wWO=E 3,000

afhEHE 1,000 BEREHE 3,000
HEEEAE 1,000 B ANE 3,000
HOZ 1,000 @) 3,200
MOE 208 1,000 AN o 3,300
MERREANZ 1,000| PLEHMEE 3,300
BHOR 1,000 REHNZ 3,300
RO E 1,000 BERETHZ 3,400
B O JH] 1,000 KIFEREZEHZ 3,500
BOS 1,000 —NMEZHZ 3,700
%OR% 1,000 gx O 4,000
BEAE 1,000 NEEHE 4,200
EOH 1,000 WARZHZE 4,300
Bl 1,000]| | KISEREHE 4,340
207 1,000 | KMEZEHZ 4,400
2Ok 1,000 SEczREHZ 4,500
O 2I0Ft 1,000 BIEREANE 4,500
FEHAE 1,000 ZFO¥ 5,000
ENREE 1,000 0% ROH 5,000
TOH 1,200 SRIAE 5,000
B0k’ 1,200 BEEARRE 5,000
TO= 1,200 2HOE 5,000
BEEREZHZ 1,500 EOE 5,000
TREEAZ 2000] |EHEEH=Z 5,000
RO% OB 2,000 #OZ5 8O 5,000
20Z HOH# 2,000 #OZS 5,500
2 OR 2,000 hEREHNE 5,800
MO BROF 2000] |FPECESUE=E 6,000
HEREHE 2,000 BO=E 6,000
LREETBRHE 2,000 BRO= 6,000
sRO 2,000 alUREZEHE 6,100
BR O 2,000 ZEAREHE 6,200
=EREANZ 2000] |NEEEH=Z 6,300
=048 £OF 2,000 hEREHANE 6,520
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ERREANZ 6,720 |=EEREHEZ 19,700
ZHNREANZ 7,100| |EREEHZ 20,000
G E 7,200 |2dEERMAEREHE 20,710
HEREHE 7,400 N e 20,800
HtEREANZ 7,500 |FBEH=Z 21,100
SMAEHE 7,550 |ER&#E 22,200
PNEZEHSE 7,700 |BEEEAE 23,160
BEREANZ 8200] |ERBEEHZ 23,315
ERREHE 8,700 FELREZHE 23,900
ElLUFEPEEHRZ 8710 |CEEEHE 24,500
FEMAE 8800] |EMEEHZ 24,569
—HREEHE 8,900 2058 25,000
WEREE(S) 8,900 SIEREHE 25,056
BINREANZ 8900 ] |E#EZz=Z 25,400
EREANZ 9100 |REEEZHS 25,600
M REANZ 9,500 |WIBEZEHSE 32,000
MTHEZEAZ 9,660 ] |EBEHZ 32,900
RNEEEZEHS 10,000 ABEZHE 46,500

EEREHE 10,000] |H=EEHEZ 47,400
$OEQ 10,000 AN EEHZ 54,300
ZO1E 10,000 ITMEZHZ 54,500
FE B aKEIEE 10,000] |PULEEH=Z 61,950
FEREAZ 10,300] |MUEZH=Z 82,700
RO 11,000
SEREANZ 11,200 ARERELIZESR
XKEREANZ 11,700 | [#OK 100
A EEHE 12,000 WM EE 600
WP REEAZ 12,000 L O 1,000
AEIEREZEANE 12,570 =50 6,000
[EHEEHE 12,600 FHE 10,000
Wra = 12,700
e 12,700 AP ESEERE
HERAE 12,900 2O% 400
EMREANZ 13,418 ] |BROIH 500
ERAE 13,485 ZO 1,000
REREE 14,000 sROE 3,000
ENREANZ 14,400 [&OM 3,600
EMNMEEAE 15,500 FOHE 7,000
NREHE 15,900 HOE] 31,000
MEREANZ 16,400
iR EENE 17,000
BBEREANZ 17,500 RS R 2 R
NIBE 17,700] |BEREBRMONHBRAT 50,000
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1% O i 200 2 OHRA 30,000

=05 500 =018 36,000

Z O 500 O3 60,000

015 500 RO 60,000

FOR% 1,000 ZOA 60,000

FO&H 1,200 EO 300,000

FOH 1,200

HO& 1,200 FIDEEAERED

205 1,200 BERERCZEERZAE 25,000

ROE 1,200

20O= 1,200 HABEELETESRE

MO 1,200 £08 1,500

sROR 1,200

ROX 1,200 AmERELVESR
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RO 1,200
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= O 6,000 £08 1,500
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2OF 6,000

RO 6,000 A REAEER S

ROE 11,000 £08 1,500

A8 ORR 12,000

P O= 12,000 25| AT ESR

FFO= 12,000 £08 1,500
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18 A\ 5 5l 25 Bk 18 A\ %5 5l 2= 6k
hOG 100 FHE 6,600
hOEE 100 HOB 10,000
=0 100 FHE 13,100
RO £ 130 MOEL 20,000
=01 150 fROE 20,000
FOzm 200 7&#O 20,000
BO&F 200 BOE 50,000
HOE 200
B O F 300 IR aEEL
ZOHB 500 OMH 600
Z0[ 500 2OE 600
=0 OKR 500 ER O 1,000
B O= 500 =04 1,200
KOF] 1,000 HOE 1,500
RO 1,000 SEOIE 2,000
RO 1,000 RO 3,000
=08 1,000 OS5 3,000
EOA 1,000 ROZE 3,600
=0 1,000 “OR 10,000
OBl 1,200 NEHE 12,000
2057 2,000 #HOR 30,000
ftO= 2,000 Irvine Taiwanese Presbyterian Church 46,410
OE 2,000 EOTT 60,000
RO 2,000
fROE 2,000 HIEEEH
B O JH] 2,000 BIGEA 300
=0H 2,000 PR = 1,000
=01 2,000 =EHE 2,000
3 O 2,000 |EEAX 2,500
EOU 2,500 NEHE 9,800
FHE 3,000
FEROZ 3,000 HIEEEH
MOHE 3,600 MO 500
ZOH 3,600 EOE 500
FO#®E ZOHE 5,000 BROT 800
S OE 5,000 HOH 1,000
MO=E 5,000 BOk RO 2,000
MO1Z 5,000 B OIR 4,500
B3O = 5,000 207 5,000
FFOE 5,000 RO = 5,600
20K 6,000 sRO1E 10,000
OB/ 6,000 MOE 24,000
EOAB 6,000 Z0E 36,000
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BO= 500 MO % 10,000
0= 1,000 £O5E 10,000
PO E 1,000 FpO% 10,000
BOE 1,000 =0T 10,000
=08 1,000 8O 8OW 10,000
ez O 1,500 SO 12,000
CHEFAE 2,000 Z0E 12,000
HOIk 2,000 MOR 12,000
BlEEE 2,000 ZOR 12,000
ORE 2,000 BORK 12,000
BOE 2,000 mEaE 13,500
FHOE 2,000 HEEHERE 15,000
Mrs. Larry Yen 3,000 BO&E 16,000
RO 3,000 HOR 20,000
20 3,000 & Ol 20,000
=203 2OAE 3,000 2 O, 20,000
=04 3,000 FOF 24,000
=0X 3,000 bR O 28,000
EO X 3,000 PEEBARESEARE 30,000
& O 3,000 FTO¥’ 50,000
FHEA 3,723 ROH 50,000
Ok FOE 5000| |MEDZASEENSHEE 60,000
2OE 5,000 2OH 60,000
g0’ 5,000 RO 100,000
10 6,000 RO 15Ol 350,000
Z0OA 6,000

B O 6,000 B

Z01#% 8,000 B O 1R, 500
FO=E 10,000 #MOBR 1,000
FOT 10,000 ROE 12,000
FOA 10,000 EOM 20,000
20%# 10,000 MO#E 100,000




